### **General Info**

Number: Description: PROJECT NO. 69-18-02 EROSION REPAIR M.P. 228.5 WESTBOUND MAHONING COUNTY, OHIO

Deadline: AUGUST 8, 2018 AT 2:00 P.M. (EASTERN)

#### (Estimated Cost: \$270,000.00)

Bids	
Business	Bid Total
J.S. Bova Excavating LLC	\$278,453.22
Rudzik Excavating	\$310,000.00
Shelly & Sands, Inc.	\$528,049.00

## J.S. BOVA EXCAVATING LLC

## **Bidder's Option(s) for Construction Phasing and Time of Completion**

Include In Total? No

Choose one Schedule Option:\*: Options 1 & 2

PROJECT NO. 69-18-02, MP 228.5 WESTBOUND EROSION REPAIR (Ref. Nos. 1-32)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
1	IB. ART.6	PREMIUM FOR CONTRACT PERFORMANCE	1.00	LUMP	\$5,000.00	\$5,000.00
		BOND AND PAYMENT BOND				
2	SP 113	SWP3 MANAGEMENT, AS PER PLAN	1.00	LUMP	\$2,200.00	\$2,200.00
3	201	CLEARING & GRUBBING, AS PER PLAN	1.00	LUMP	\$27,000.00	\$27,000.00
4	202	HEADWALL REMOVED	1.00	EACH	\$1,500.00	\$1,500.00
5	202	PIPE REMOVED, 24" AND UNDER	24.00	FEET	\$50.00	\$1,200.00
6	202	BUILDING DEMOLISHED, AS PER PLAN	1.00	EACH	\$1,500.00	\$1,500.00
7	202	FENCE REMOVED	1,355.00	FEET	\$4.00	\$5,420.00
8	203	EXCAVATION	1,333.00	CU. YD.	\$20.00	\$26,660.00
9	203	EMBANKMENT	2,425.00	CU. YD.	\$30.00	\$72,750.00
10	601	ROCK CHANNEL PROTECTION, TYPE B WITH FILTER	84.00	CU. YD.	\$120.00	\$10,080.00
11	601	ROCK CHANNEL PROTECTION, TYPE C WITH FILTER	106.00	CU. YD.	\$120.00	\$12,720.00
12	602	CONCRETE MASONRY	0.53	CU. YD.	\$1,700.00	\$901.00
13	602	CONCRETE MASONRY, AS PER PLAN	2.40	CU. YD.	\$2,000.00	\$4,800.00
14	607	FENCE, TYPE 47RA	1,350.00	FEET	\$12.00	\$16,200.00
15	611	6" CONDUIT, TYPE B, 707.45	50.00	FEET	\$64.00	\$3,200.00
16	611	6" CONDUIT, TYPE C, 707.45	50.00	FEET	\$40.00	\$2,000.00
17	611	6" CONDUIT, TYPE F, 707.45	50.00	FEET	\$40.00	\$2,000.00
18	611	12" CONDUIT, TYPE C, 706.08	8.00	FEET	\$120.00	\$960.00
19	611	18" CONDUIT, TYPE C, 706.02	8.00	FEET	\$125.00	\$1,000.00
20	611	18" CONDUIT, TYPE C, 707.12	8.00	FEET	\$169.00	\$1,352.00

21	614	MAINTAINING TRAFFIC, AS PER PLAN	1.00	LUMP	\$10,000.00	\$10,000.00
22	623	CONSTRUCTION LAYOUT STAKES	1.00	LUMP	\$5,000.00	\$5,000.00
23	624	MOBILIZATION	1.00	LUMP	\$10,000.00	\$10,000.00
24	659	TOPSOIL	640.00	CU. YD.	\$26.00	\$16,640.00
25	659	SEEDING AND MULCHING	5,759.00	SQ. YD.	\$1.00	\$5,759.00
26	659	REPAIR SEEDING AND MULCHING	288.00	SQ. YD.	\$3.00	\$864.00
27	659	INTER-SEEDING	288.00	SQ. YD.	\$0.01	\$2.88
28	659	COMMERCIAL FERTILIZER	0.81	TON	\$1,000.00	\$810.00
29	659	LIME	1.19	ACRE	\$0.01	\$0.01
30	659	WATER	33.00	M. GAL.	\$0.01	\$0.33
31	832	EROSION CONTROL	20,000.00	EACH	\$1.00	\$20,000.00
32	836	SEEDING AND EROSION CONTROL WITH TURF REINFORCING MAT, TYPE 2	1,562.00	SQ. YD.	\$7.00	\$10,934.00

Total:

\$278,453.22

#### **RUDZIK EXCAVATING**

# Bidder's Option(s) for Construction Phasing and Time of Completion

Include In Total? No

Choose one Schedule Option:\*: Options 1 & 2

PROJECT NO. 69-18-02, MP 228.5 WESTBOUND EROSION REPAIR (Ref. Nos. 1-32)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
		PREMIUM FOR CONTRACT PERFORMANCE	1.00	LUMP	\$4,300.10	\$4,300.10
1	IB. ART.6	BOND AND PAYMENT BOND				
2	SP 113	SWP3 MANAGEMENT, AS PER PLAN	1.00	LUMP	\$3,000.00	\$3,000.00
3	201	CLEARING & GRUBBING, AS PER PLAN	1.00	LUMP	\$39,000.00	\$39,000.00
4	202	HEADWALL REMOVED	1.00	EACH	\$500.00	\$500.00
5	202	PIPE REMOVED, 24" AND UNDER	24.00	FEET	\$50.00	\$1,200.00
6	202	BUILDING DEMOLISHED, AS PER PLAN	1.00	EACH	\$500.00	\$500.00
7	202	FENCE REMOVED	1,355.00	FEET	\$2.50	\$3,387.50
8	203	EXCAVATION	1,333.00	CU. YD.	\$23.00	\$30,659.00
9	203	EMBANKMENT	2,425.00	CU. YD.	\$28.00	\$67,900.00
		ROCK CHANNEL PROTECTION, TYPE B WITH	84.00	CU. YD.	\$120.00	\$10,080.00
10	601	FILTER				
		ROCK CHANNEL PROTECTION, TYPE C WITH	106.00	CU. YD.	\$115.00	\$12,190.00
11	601	FILTER				
12	602	CONCRETE MASONRY	0.53	CU. YD.	\$5,000.00	\$2,650.00
13	602	CONCRETE MASONRY, AS PER PLAN	2.40	CU. YD.	\$2,000.00	\$4,800.00
14	607	FENCE, TYPE 47RA	1,350.00	FEET	\$13.00	\$17,550.00
15	611	6" CONDUIT, TYPE B, 707.45	50.00	FEET	\$15.00	\$750.00
16	611	6" CONDUIT, TYPE C, 707.45	50.00	FEET	\$15.00	\$750.00
17	611	6" CONDUIT, TYPE F, 707.45	50.00	FEET	\$15.00	\$750.00
18	611	12" CONDUIT, TYPE C, 706.08	8.00	FEET	\$200.00	\$1,600.00
19	611	18" CONDUIT, TYPE C, 706.02	8.00	FEET	\$200.00	\$1,600.00
20	611	18" CONDUIT, TYPE C, 707.12	8.00	FEET	\$220.00	\$1,760.00

21	614	MAINTAINING TRAFFIC, AS PER PLAN	1.00	LUMP	\$14,000.00	\$14,000.00
22	623	CONSTRUCTION LAYOUT STAKES	1.00	LUMP	\$10,500.00	\$10,500.00
23	624	MOBILIZATION	1.00	LUMP	\$15,000.00	\$15,000.00
24	659	TOPSOIL	640.00	CU. YD.	\$25.60	\$16,384.00
25	659	SEEDING AND MULCHING	5,759.00	SQ. YD.	\$1.90	\$10,942.10
26	659	REPAIR SEEDING AND MULCHING	288.00	SQ. YD.	\$1.55	\$446.40
27	659	INTER-SEEDING	288.00	SQ. YD.	\$1.55	\$446.40
28	659	COMMERCIAL FERTILIZER	0.81	TON	\$265.00	\$214.65
29	659	LIME	1.19	ACRE	\$265.00	\$315.35
30	659	WATER	33.00	M. GAL.	\$1.00	\$33.00
31	832	EROSION CONTROL	20,000.00	EACH	\$1.00	\$20,000.00
		SEEDING AND EROSION CONTROL WITH TURF	1,562.00	SQ. YD.	\$10.75	\$16,791.50
32	836	REINFORCING MAT, TYPE 2				

Total:

\$310,000.00

# Bidder's Option(s) for Construction Phasing and Time of Completion

Include In Total? No

Choose one Schedule Option:\*: Option 1

PROJECT NO. 69-18-02, MP 228.5 WESTBOUND EROSION REPAIR (Ref. Nos. 1-32)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
1	IB. ART.6	PREMIUM FOR CONTRACT PERFORMANCE	1.00	LUMP	\$5,000.00	\$5,000.00
		BOND AND PAYMENT BOND				
2	SP 113	SWP3 MANAGEMENT, AS PER PLAN	1.00	LUMP	\$10,000.00	\$10,000.00
3	201	CLEARING & GRUBBING, AS PER PLAN	1.00	LUMP	\$120,000.00	\$120,000.00
4	202	HEADWALL REMOVED	1.00	EACH	\$500.00	\$500.00
5	202	PIPE REMOVED, 24" AND UNDER	24.00	FEET	\$26.00	\$624.00
6	202	BUILDING DEMOLISHED, AS PER PLAN	1.00	EACH	\$2,000.00	\$2,000.00
7	202	FENCE REMOVED	1,355.00	FEET	\$5.00	\$6,775.00
8	203	EXCAVATION	1,333.00	CU. YD.	\$60.00	\$79,980.00
9	203	EMBANKMENT	2,425.00	CU. YD.	\$35.00	\$84,875.00
10	601	ROCK CHANNEL PROTECTION, TYPE B WITH	84.00	CU. YD.	\$200.00	\$16,800.00
		FILTER				
11	601	ROCK CHANNEL PROTECTION, TYPE C WITH	106.00	CU. YD.	\$200.00	\$21,200.00
		FILTER				
12	602	CONCRETE MASONRY	0.53	CU. YD.	\$3,000.00	\$1,590.00
13	602	CONCRETE MASONRY, AS PER PLAN	2.40	CU. YD.	\$900.00	\$2,160.00
14	607	FENCE, TYPE 47RA	1,350.00	FEET	\$15.00	\$20,250.00
15	611	6" CONDUIT, TYPE B, 707.45	50.00	FEET	\$25.00	\$1,250.00
16	611	6" CONDUIT, TYPE C, 707.45	50.00	FEET	\$25.00	\$1,250.00
17	611	6" CONDUIT, TYPE F, 707.45	50.00	FEET	\$25.00	\$1,250.00
18	611	12" CONDUIT, TYPE C, 706.08	8.00	FEET	\$200.00	\$1,600.00
19	611	18" CONDUIT, TYPE C, 706.02	8.00	FEET	\$250.00	\$2,000.00
20	611	18" CONDUIT, TYPE C, 707.12	8.00	FEET	\$250.00	\$2,000.00

21	614	MAINTAINING TRAFFIC, AS PER PLAN	1.00	LUMP	\$51,000.00	\$51,000.00
22	623	CONSTRUCTION LAYOUT STAKES	1.00	LUMP	\$20,000.00	\$20,000.00
23	624	MOBILIZATION	1.00	LUMP	\$10,000.00	\$10,000.00
24	659	TOPSOIL	640.00	CU. YD.	\$35.00	\$22,400.00
25	659	SEEDING AND MULCHING	5,759.00	SQ. YD.	\$2.00	\$11,518.00
26	659	REPAIR SEEDING AND MULCHING	288.00	SQ. YD.	\$0.75	\$216.00
27	659	INTER-SEEDING	288.00	SQ. YD.	\$0.40	\$115.20
28	659	COMMERCIAL FERTILIZER	0.81	TON	\$650.00	\$526.50
29	659	LIME	1.19	ACRE	\$170.00	\$202.30
30	659	WATER	33.00	M. GAL.	\$1.00	\$33.00
31	832	EROSION CONTROL	20,000.00	EACH	\$1.00	\$20,000.00
32	836	SEEDING AND EROSION CONTROL WITH TURF REINFORCING MAT, TYPE 2	1,562.00	SQ. YD.	\$7.00	\$10,934.00

Total:

\$528,049.00